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D-277 Dental Physiology, Summer 2011, Quiz 5,

Friday, June 10, 2011

There are 4 questions. Each is worth 0.5 points. Please write the letter of the correct answer in the box provided by each question.
1. An elderly patient with osteoporosis (lack of [Ca++]plasma ) has been diagnosed with a peptic ulcer.  The physician treats this with a proton pump blocker for several months.  Because of the lack of gastric H+, is it possible that the patient’s osteoporosis will be aggravated ? 
a. *YES as dietary calcium will not be solubolized due to the lack of gastric acid. 
b. NO as gastric pH has nothing to do with mineral solubolization.
2. The portion(s) of the bowel that absorbs both HCO3-, NaCl plus H2O would be found in the:

a. Colon only

b. Duodenum only

c. *Jejunum only

d. Ileum only

e. Duodenum, ileum & colon

f. *Colon, Jejunum & Ileum


3. In examining the clinical report of a patient who has all of the signs and symptoms of glucorticoid excess, you conclude that this patient has Cushing’s syndrome and NOT Cushing’s disease.  Which of the following data did you use to correctly make that differential diagnosis ? 
a. *A below normal [ACTH}plasma 
b. A “moon face” appearance.
c.
Prognathism.
d.
An above normal [ACTH}plasma 

4.
A patient has prognathism, increased muscle mass, hyperglycemia and has visual problems.  Their hands and feet are abnormally enlarged.  Based on these observations, you can correctly suspect that this patient probably has:
a. Cushing’s syndrome 
b. Cushing’s disease
c. *Acromegaly
d. Both a & c, but not b. 
